lemon

intermediate pattern

Yarn: Any DK weight yarn in yellow

Needles: 1 pair 3.75mm needles, sewing needle

Knitting:
Hat
Using 3.75mm needles cast on 33 sts.
Row 1: K1 P1 to last st, K1
Row 2: P1K1 to last st, P1
Now work 12 rows in st st.

Row 15: (K2 K2tog K3 K2tog K2) repeat twice more
(27st)

Row 16-18: starting with a purl row work 3 rows of st st
Row 19: (K1 K2tog) repeat to the end of the row (18st)
Row 20: Purl

Row 21: (K1 K2tog K2tog) repeat to last 3 st, K1 K2tog
(1st)

Row 22: (P2tog P1) to last 2 st, P2tog (7st)
Row 23: K3tog K2tog K2tog (3st)

On these 3 st work 2 rows of iCord then K3tog to
fasten off

Making up

Use a sewing needle to join side seams.

Abbreviations K = Knit P = Purl Tog = Together Sts = stitches St st = stocking stitch
k2tog = knit two together P2tog = purl two together K3tog = knit 3 together

the 'mr\ocent Thanks for knitting a little hat for the Big Knit this year. Please send your hats to:

big knit The Big Knit, Fruit Towers, 342 Ladbroke Grove, London, W10 5BU
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